Frequently Asked Questions (FAQs) — 2015
Management Statements and Budget Review

Question 1 ¢ The general operating fund had a surplus of $13.8M for 2014/15. Where did this come
from and how is it going to be spent?

General Operating Fund Revenues of $346.6 million exceeded expenditures of $332.8 million by $13.8
million. The University expects to have and generally does have an annual surplus each year because of:

Planned allocations added to reserves for future major capital (new buildings and repurposing
space) and equipment replacement;
Positive variances between expected and actual results including:

0 Increased or unanticipated revenue (e.g. international tuition)

o0 Lower expenditures than planned (e.g. vacant positions)
Transfers of operating funds to cover other fund expenditures, such as research, capital or
specific purpose (e.g. building repair and renovation costs)

In addition, the University is required by provincial statute not to have a deficit in any given year. For
2014/15 the surplus was used as follows:

Transfers to cover capital expenditures

better position to deal with anticipated future revenue fluctuations that may result from changes in
enrolment as well as provide a source of funding for capital.

Question 3 - What are internal cost allocations?

Internal costs allocations are net transfers between internal accounts for the provision of goods and
services provided by departments to other units within the university. They represent expenditures from
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